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(20124E 1 H 19 HEAA - 1 H 26 H5i) (52 . PR FAEHT)
[1] RO 2BHEEIHEr S, ZhzRkd X,
(1) f(z,y) =2° +y* — 3xy (2) flz,y) = 2" + 9>+ 22° —day + 1

x 1 1

(3)f(1’a?/):m (4) f(may):%’er;Jrg
[2] ROHK 2 ZEHHEIHME DU, ZhzRko X,
(1) f(x,y):x?’—x—gf (2) f(x7y>:3xey_x3_€3y
(3) f(z,y) =2 — 3z + xy® (4) flz,y) = (2®y —x —1)* + (2 — 1)
[8] RTEEIND F(r,y) =0 TEE LK y=f(x) ITHLT, f(z)ZKD
i.ikf%ﬁzO&&%a%*@,%@a;ﬂtff%@:—_7L7%?%*®
X.
(1) 23 +y> =32y —3=0 (2) 22% =322 +4y? -3 =0

[4] 2'+y' — 4oy =0 TEX ZBHE y = f(z) ITDOVT,
(1) fl(x) Z2KD XK.
(2) (1) £ b, y—%%%%%—zfﬁ% LA (HREOERE 444 O/
b &) :

[56] XROBERNTEF % 2 DEEHE y DiRfZ Ko K.
(1) zy(z —y) =2 (2) 2y’ +y—2=0

((2) EFWEDOBHIF DR (a,b) 1 b= 2a & HTI LERRE,)

[6] BRMEK 220, y=0, v+y <1 _LOKE

F(z,y) = 32 + 2y* + 22y — 20 — 2y + 1

DEKAE & i/IMEZ KD K,

Gz v & ZOREOME L, PHRIOER O A TOfEZ X2 ,)

(7] &fF 22 +y2 =1 DB ET, WE F(o,y) = 23 +y> DKl & Re/ME %,
Lagrange DAREFBIEIC X DKo K.
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